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This Appendix is organized as follows. Section 1 formally defines the equilibrium concept.
Section 2 provides Lemmas not stated in the main text that describe general properties of
equilibrium. I use the results from Section 2 to prove results from main text in Section 3.
Section 4 characterizes the model’s equilibrium for the case not studied in the main text,
v = H and ¢y € (5, ).
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1 Solution Concept

The solution concept is refinement of perfect Bayesian equilibrium. A perfect Bayesian

equilibrium is a profile of strategies and beliefs
0 = <0_b7 Of, 0w, 1O, :uM>
such that o3, 0¢, and o,, are sequentially rational and po and gy satisfy

1. Common Beliefs

e Opposition, MC, and OC’s posterior belief about the majority is pp(-) at each
history.
e Majority, MC, and OC’s posterior belief about the opposition is uo(-) at each
history.
2. Action-Determined Beliefs

o pio(ho) = po(no bill) = po(bill) =1/2

o Lo(fight) = po(table) = po(filibuster)

e pr(ho) =1/2

o 1 (bill) = pupr(allow vote) = pp(filibuster)

3. Bayesian Updating

o ou(H)
pa (bill) = oy (H) + o3(L)

if O'b(H) + O'b(L) > 0,

1— O'b(H)
2 — O'b(H) — O'b(L)

par(no bill) = if 2—0,(H)—o0u(L) >0,

if O'f(H)—f-O'f(L) > 0,

po(filibuster) =

1—oy(H)

= o (H)oy(L) 27 o) = os(L) >0,

po(allow vote) =

_ pas (bill)or, ()
ar ight) = e o ) + (1 — oy (b)) (L)
ity (bill)orw(H) + (1 — par(bill))orw(L) > 0,




puar(bill)(1 = o (H))
s Gill) (1 — 0 () + (1 — s (bil))(1 — 0 (L))
it puar(bill)(1 — o (H)) + (1 — puar(bill))(1 — o (L)) > 0

s (table) =

I refine the set of PBE I consider by restricting attention to PBE such that (i) o,(H) >
op(L), (ii) off-path beliefs satisfy certain conditions, and (iii) party strategies satisfy certain
efficiency conditions. I first define the off-path belief conditions. I then define efficiency
conditions. I conclude this section by formally defining an equilibrium as a PBE that satisfies

these conditions.

1.1 Beliefs

I first define the conditions that uo(filibuster) and po(allow vote) must satisfy in the PBE
I consider. The conditions reference the set of all (o, no(filibuster), po(allow vote)) such
that for a given d, oy is sequentially rational and po(filibuster) and po(allow vote) satisty
the requirements of PBE. I abuse notation slightly by defining the opposition’s net expected

opponent-reputation if it allows a vote, J, more generally than in the main text as
0 = Buar(bill) |0 (H)ra(fight) + (1 — 0, (H ))rp(table) — vy (allow vote)

The generalization defines § for both vy, € {H, L} by replacing uy with ry,. It is straight-
forward to check that Remark 1 holds for this general definition and that § € [—%, g] Note
that § is a function of (o, 0y, iar)-

I now define the belief condition formally. For a given § € [—3/4, 5/4], let ¥5(d) denote
the set of (o, o) such that (i) o is sequentially rational given § and pp and (ii) po satisfies

PBE belief conditions 1-3.

Definition 1 (Equilibrium Beliefs: o (filibuster) and po(allow vote))
X5(0) € Xo(0) is the set of (of, po) € Xo(0) such that

1. either
(i) op(H)+os(L) >0,
(i) oy (H) = os(L) = 0 for all (0%, o) € ¥y(9), or
(7ii) po(filibuster) = % for some (0%, i) € ¥4(0), and

2. either



(1) 2 —oy(H) —ag(L) >0,

(i) o(H) = o%(L) =1 for all (0%, ) € Xy(9), or

(iii) po(allow vote) = % for some (o}, i) € X5 (6).

I now define the conditions that p(fight) and iy, (table) must satisfy in equilibrium. The
conditions reference the set of all (o, par(fight), s (table)) for a given pips(bill) such that o,
is sequentially rational and pys(fight) and pps(table) satisfy the requirements of PBE.

Formally, let ¥, (uar(bill)) denote the set of (o, par(fight), s (table)) such that (i) oy, is
sequentially rational given gy (fight) and pps(table), and (ii) par(fight) and pp(table) satisty
PBE belief conditions 1-3 given i/ (bill) and o,.

Definition 2 (Equilibrium Beliefs p,(fight) and p),(table))

X (par (bill)) € X (s (bill)) is the set of (0w, par(fight), pas(table)) € Sy (uar(bill)) such
that

1. either

(i) puar(bill) oo (H) + (1 — puar(bill))ow (L) > 0,
(ii) punr(bil)o’,(H) + (1 — puar(bill))o', (L) =

Jor all (o7, pips (fight), iy (table)) € Lo (par(fight)), or
(i) s (fight) = o aimart Gy Tty (YD)

for some (o, iy, (fight), wy (table)) € S (i (fight)),

2. either

(i) par(bill)(1 — 0 (H)) + (1 — par(bill)) (1 — 0 (L)) > 0,
(i) par(bill)(1 — o7, (H)) + (1 — par (bill))(1 — o7,(L)) = 0
for all (o, prs (fight), iy (table)) € S (pa(fight)), or
(iii) par(table) = o i (s (W= D)
for sorme (0, (fight), iy (table)) € Slunr(fight)).

Finally, I define the conditions that g/ (bill) and pips(no bill) must satisfy in equilibrium. I
focus on equilibria in which the opposition and constituencies do not interpret an unexpected
bill as a signal of the majority’s type. That is, I focus on equilibria in which g (bill) = 1/2
if o,(H) = 0p(L) = 0. The condition on gy (no bill) is analogous to those in Definitions 1



and 2. The condition references the set of all (o}, 0, ptar) given a fixed (o, po) such that o,
and o, are sequentially rational and p,, satisfies PBE conditions 1-3 and Definition 2.

Formally, let X/ (o¢, to) denote the set of (oy, 0w, ptar) given oy and po such that (i)
op(H) > op(L), (ii) par and po satisfy PBE conditions 1-3, (iii) (o4, tar(fight), pas(table)) €
X (par(bill)), and (iv) oy is sequentially rational.

Definition 3 (Equilibrium Beliefs: p,,(bill) and py(no bill))
Yii(or, o) € En(oy, po) is the set of (v, 0w, piar) € X0y, po) such that

1. either

(i) oo(H) + oy(L) > 0, or
(i) par(bill) = 1/2

2. either

(i) 2= op(H) — ou(L

) >
(it) 2 — oy (H) — oy(L) = 0 for all (o, 0y, 1iar) € X(0, o), or

(7ii) par(no bill) = W(H)’(L) for some (o}, 0., tthy) € Xp(of, 10),

1.2 Efficiency

In this section I define the efficiency conditions that an equilibrium must satisfy. I start with
an efficiency condition for the opposition. For every 0, the set ¥ (d) consists of all (o, o)
such that o is sequentially rational and po satisfies the belief condition in Definition 1. For
any pair of profiles (o, io), (0%, 1) € £5(9) such that oy # oy, the efficiency condition
rules out (o, j1o) if both types of the opposition prefer (o, up) to {0y, o) with at least one
strict preference. Preferences are determined by the opposition’s expected payoff under each
strategy-belief profile evaluated at the history bill where the opposition chooses to filibuster
or allow a vote. Formally, for any (o, o) € ¥o(0), the expected equilibrium payoff for type
Oo of the opposition at history bill is

Fo,(or) = (1 —04(60)) [aro(allow vote) — By (bill)ras (bill)
+04(60) {aro(ﬁlibuster) —co-1(6p =1L)

= Braas (bih) (oo (s (fght) + (1 = o H))ras (table))



Definition 4 (Efficiency: Opposition) X5 (0) C X5(9) is the set of (o, o) € X5H(0)
such that no (0, 1) € X5(9) ewists such that Fy,(0}) > Fy,(oy) for both 0o € {H, L} with

at least one strict inequality.

I now define an efficiency condition that the majority’s strategy must satisfy. The
efficiency condition for the majority consists of two parts. The first part is analogous to
the version of Pareto efficiency that the opposition’s strategy must satisfy. For a fixed
(¢, po), the set X3,(oy, po) consists of all (oy, 04, par) such that oy, and o, are sequentially
rational and p), satisfies the belief conditions in Definition 2 and 3. For any pair of profiles
(Tb, Oy o) s (T Ths W) € X034(0f, 10), the Pareto efficiency condition rules out (o, oy, fiar)
if both types of the majority prefer (o}, 0!, 1/;) with at least one strict preference. Preferences
are determined by the majority’s expected payoff under each strategy-belief profile evaluated
at the initial history where the majority chooses to introduce a bill or not after learning its

type.
The second part of the efficiency condition for the majority considers any pair of profiles

(Ob, Ows fian)s (s Oy tihy) € B3 (0f, 110)

that yield the same expected payoff to each type of the majority. I select one profile over the
other if both types introduce a bill with a lower probability with at least one type introducing
a bill with a strictly lower probability. If o, = oy, I select one profile over the other if both
types fight with a lower probability with at least one type fighting with a strictly lower
probability.

I now define these conditions formally. For any

<Ub7 Ow, MM) € EM(O-f7 NO)»

the expected equilibrium payoff for type #;; of the majority is

Boas (o0, o) = (1 = 04(0r)) (aTM(no bill) — i)

N <0b(§M)

) {WHM(%)(U,@(H) +0p(L)) + ara(bill) (2 — o4 (H) — o(L))
— 5(af(H)ro(ﬁlibusteT) + (1 —op(H))ro(allow vote))]
where

Wa,, (0w) = ow(H)[ary(fight) — car - L0y = L)] + (1 — 0 (L))ras(table)



is the expected equilibrium payoff at history filibuster for type 6, minus its expected opponent

reputation payoff.!

Definition 5 (Efficiency: Majority) Xii(oy, o) € X3,(0f, o) is the set of
(Ob, Ow, pirr) € X3p(05, po) such that

1. no (o, 00, pthy) € Xi(of, po) exists such that By, (o, 0.,) > By, (0p, 0w) for both
Oy € {H, L} with at least one strict inequality, and

2. no (oy, 00, 1hy) € yu(or, po) exists such that By, (0,,0.,) = By, (0p, 0w) for both
Or € {H, L} and either

(i) o,(0n) < 0u(0nr) and o,,(0r) < 0w(0ar) for both Oy € {H, L} with at least one

strict inequality or

(ii) o,(0r) < op(0pr) for both Oy € {H, L} with at least one strict inequality.

1.3 Definition of Equilibrium
I now define an equilibrium formally as a PBE that satisfies the belief and efficiency conditions.

Definition 6 (Equilibrium) An equilibrium is a profile of strategies and beliefs,

<0b7 Of, 0w, UM, NO>7 such that <0b7 Ow, ,UM> € EE(‘%‘? ,UO) and <Uf7 MO) € Z*O*<5)

2 Additional Lemmas

In this section I state and prove Lemmas A1-A3 which establish general properties of equilibria.

I use these Lemmas to establish the model’s main results in the following section.

Lemma A1 For uy(bill) € (0,1), the majority’s response strateqy satisfies the belief condi-
tion in Definition 2 if and only if

0 if ey < appg(bill) oryvo =L
ow(H) =
1 if ear > aup(bill) and vy = H

(M) [~ —1] ifear € (auar(bill), ) and vy = H

L—pnr (bill) ) Lens
0 otherwise

Uw(L) =

'In any PBE the majority receives the same expected payoff from its opponent’s reputation at history
filibuster for both of its available actions.



Lemma A2 A MS-Filibuster-MS equilibrium is the only equilibrium in which op(H) = 1
and op(L) = 0. A MS-Filibuster-MS equilibrium exists if and only if vy = H, ey > o, and

Lemma A3 Ifvy =L orcy <%

5, in equilibrium

1 if p>0,
0 otherwise.

If vi = H and cpyr > «, in equilibrium o,(H) =1 and

iy~ [0 T et = =1,

1  otherwise.

To prove Lemmas A1-A3, it is useful to define the function
(%) =

I use Remarks 1 and 2 in several proofs. Remarks 1 and 2 are established in the main text. I

repeat them here for reference.

Remark 1
5 0 if py(bill) =1 or o,(H)=0,(L)=0,
g if pa(bill) =3, 0,(H) =1, and o,(L) =0.
Remark 2
0 if  op(H)=04L) =1,
P = Y )
(1 2f(L)> (q_ﬁi(W) Zf Uf(H)>Uf(L) and ’}/O:H

Otherwise, p > 0.

Proof of Lemma A1: It is sequentially rational for the majority to fight if, and only if,



afpn(fight) — pne(table)mar(var) 2 enr - 10 = L) (1)

I first establish the result for 7o = L. If both types of the majority table in equilibrium,
then pup/(table) = pp(bill). Both types prefer to table given this belief if, and only if,
par(fight) > par(table). If 0, (H) = 0,(L) € (0,1), then pa(fight) = par(table) = par(bill).
But given these beliefs, the low majority strictly prefers to fight. Such a strategy is therefore
inconsistent with PBE. If 0,,(H) > 0,(L), then py(fight) > pa(table) by Bayes’ rule. Given
these beliefs, the high majority strictly prefers to table. The strategy is therefore inconsistent
with PBE. Similarly, if o, (H) < 0,(L), then pp(fight) < par(table) by Bayes’ rule which
implies that the high majority strictly prefers to fight. The only two remaining strategies are
ow(H) =0,(L) € {0,1}. If 0,(H) = 0,(L) = 0, then py(table) = pp(bill) by Bayes’ rule.
Both types prefer to table given this belief if, and only if, pa/(fight) > par(bill). Because
ow(H) = 0,(L) = 0 is consistent with equilibrium independent of ¢;;, the belief condition
in Definition 2 requires the MC to not interpret table as a signal of the majority’s type if
ow(H) = 0,(L) = 1. Thus only the response strategy profile o,,(H) = 0,(L) = 0 satisfies
the belief condition in Definition 2 is vo = L.

I now establish the result for yo = H. I first consider strategies in which both iy (fight)
and iy (table) are defined under Bayes’ rule. Note that because only the low majority pays
ey to fight and pa(fight) < pp(table) if o,(H) < 0,(L), no equilibrium exists in which
ow(H) < 0,(L). Relatedly, if o,(H) > 0,(L) then pp(fight) > par(table). This implies that
the high majority strictly prefers to fight. Thus o,,(H) =1 if 0,(H) > 0,(L). For o,(H) =1
and o, (H) < 1, by Bayes’ rule p(table) = 0 and

s (bill)
g (bill) + (1 — par (bill) ) oy (L)

Given these beliefs for vy, = H, 0,,(H) = 1 and 0,,(L) = 0 is sequentially rational if and only

par (fight) =

if ¢py > . A mixed strategy requires (1) to hold with equality for 6, = H. Equality can be
satisfied if and only if ey € (appr(bill), o) and

ou(L) = (“MU””)> 2

Two pooling strategies are possible. If 0, (H) = 0,(L) = 0, then up(table) = ppr(bill) by
Bayes’ rule. This strategy is therefore sequentially rational if and only if s (fight) = s (bill)
ora=0. If 0,(H) = 0,(L) =1, then pp(fight) = pr(bill) by Bayes’ rule. The strategy can
be made sequentially rational if, and only if, cpy < apup(bill). If the inequality fails, then the
strategy is not optimal for the low type even if py(table) = 0.



Having characterized all possible equilibrium strategies and beliefs for vy, = H, I now
apply the belief condition in Definition 2. For cp; < ayups(bill), the only two possible strategies
are the two pooling strategies. Under the the belief condition in Definition 2 | p/(fight) =
s (table) = par(bill) off the equilibrium path of play. Thus only o, (H) = 0,(L) = 0 satisfies
Definition 2 if ¢y < apps(bill).

If epy > o, only 0, (H) = 0(L) =0 and o, (H) = 1, 0,(L) = 0 are possible equilibrium
strategies. By Definition 2 if o, (H) = o0,(L) = 0, the MC’s off-path belief must be
war (fight) = 1. However, pas(fight) = par(bill) < 1 is necessary for o,(H) = 0,(L) = 0 to be
an equilibrium. Thus only the separating strategy satisfies Definition 2 if ¢;; > «.

Similarly, if cps € (aua(bill), ), the only possible equilibrium strategies are o,(H) =
ow(L) =0and 0,(H) =1, 0,(L) € (0,1). The off-path belief associated with o,(H) =
ow(L) = 0 therefore must be py/(fight) > ppr(bill). The high majority strictly prefers to
deviate from o, (H) = 0 given this belief. Thus only the semi-separating strategy satisfies
Definition 2 if ¢) € (apa(bill), ). O

Proof of Lemma A2

Remark 1 establishes that in every equilibrium in which o,(H) = 1 and o,(L) = 0, 6 = 0.
The opposition’s equilibrium strategy therefore does not depend on the majority’s response
strategy in any equilibrium in which o,(H) = 1 and o,(L) = 0. The opposition’s strategy in
every equilibrium in which o,(H) = 1 and o3,(L) = 0 is uniquely characterized in Lemmas 3
and 4 for 0 = 0.

I first show that o,(H) = 1 and o,(L) = 0 in equilibrium only if 75, = H. The high
majority’s net expected payoff from introducing a bill is a7ty (7ar) + p in any equilibrium in
which o,(H) = 1 and 0,(L) = 0. Thus if vy, = L, the high type’s bill-introduction strategy
is optimal if and only if p > «. If the low majority deviates, its best possible response to a
filibuster is table. To see this, note that if the high majority fights with positive probability,
wa (fight) = 1 by Bayes’ rule. In order for this to be sequentially rational for the high
majority, the MC must believe up/(table) = 1. Similarly, if o,,(H) = 0 the MC must believe
v (fight) = 1 to prevent the high majority from deviating in response to a filibuster. Thus
regardless of its response to a filibuster, the majority receives an own-reputation payoff of
0. The low type is therefore strictly better off tabling and saving the cost of the fight. It
follows that if vy, = L, both types of the majority have the same net expected payoff from
introducing a bill, p — a. The equilibrium therefore exists only if p = a and that both types
receive an identical equilibrium expected payoff. Note that if this equality is satisfied, a
continuum of equilibria exist in which o,,(L) = 0 and o,,(H) € [0, 1]. A MS-Table equilibrium
dominates all other equilibria in this continuum under the efficiency condition in Definition 5.

Now recall from Lemma A1 that if v5, = L, it is sequentially rational for both types to table



in any equilibrium in which py,(bill) € (0,1). By Remark 1, § = 0 in such an equilibrium.
The opposition’s strategy is therefore optimal in a Bill-Table and NB-Table if and only if it
is optimal in a MS-Table equilibrium for vy, = L. In a Bill-Table equilibrium, both types
receive a net expected payoff from introducing a bill of p + a/2 — a(1 — pps(no bill)). Note
that if up(no bill) = 0, a Bill-Table equilibrium exists if p > /2. Thus if p = a > 0, a
Bill-Table equilibrium and a MS-Table equilibrium exist. The majority’s expected equilibrium
payoff in the Bill-Table equilibrium strictly exceeds its expected equilibrium payoff in the
MS-Table equilibrium if p4a;/2 > p. Thus the Bill-Table equilibrium dominates the MS-Table
equilibrium under the efficiency condition in Definition 5 if @ > 0. For « = p = 0, a NB-Table
and MS-Table equilibrium exist. Both types receive an expected equilibrium payoff of 0 in
each equilibrium. The NB-Table equilibrium therefore dominates the MS-Table equilibrium
under the efficiency condition in Definition 5. This establishes that o,(H) = 1 and o3,(L) =0
in equilibrium only if v, = H.

I now show that o,,(H) = 1 in every equilibrium in which o,(H) =1 and o,(L) = 0. For
vv = H, the high majority’s net expected payoff from introducing a bill in an equilibrium in
which o0,(H) = 1 and 0,(L) = 0 is p + . Remark 2 shows that p > —3/2. By assumption,
a > f. Thus p+a > 0. If 0,(H) < 1, then pp(table) = 1 by Bayes’ rule. Given
wa(table) = 1, the low majority’s response strategy is consistent with equilibrium if and only
if o,,(L) = 0. This implies that the low majority’s net expected payoff from introducing a bill
is equivalent to the high majority’s, p + a > 0. Such an equilibrium is therefore possible only
if p = a = 0. It follows from Remark 2 that if p = o = 0, then o4(H) = o4(L) = 0. That
is, the equilibrium is a MS-Filibuster equilibrium. For a = 0, § = 0 in every equilibrium.
Thus a NB-Filibuster equilibrium also exists which dominates the MS-Filibuster equilibrium
under the efficiency condition from Definition 5. This establishes that o,,(H) = 1 in every
equilibrium in which o,(H) = 1 and o,(L) = 0.

Because vy = H and 0,,(H) = 1, the low majority’s net expected payoff from introducing

a bill in an equilibrium in which o,(H) =1 and o,(L) =0 is

o a (2 — oy(H) —af(L)> N <af(H) +af(L)) LJa—enifou(l) >

0
2 2 app (table) if o,(L) =0

Remark 2 and a > 8 imply that

pta <2 _Uf(HZ) —Uf(L)> -

if 2 —os(H) — of(L) > 0. Because the low majority’s response strategy must be optimal in

10



equilibrium and oy, (table) > 0,

0 < <0’f(H)+O'f(L)> o o — Cpf lfO'w(L)>0
B 2 app (table) if o,(L) =0

The low majority’s bill-introduction strategy is therefore optimal only if o¢(H) = o¢(L) = 1.
Thus every equilibrium in which o,(H) = 1 and o,(L) = 0 is a MS-Filibuster equilibrium.
In a MS-Filibuster equilibrium, the majority’s bill-introduction strategy is optimal if and
only if
a — ¢y if 0,(L) >0
app(table) if o, (L) =0

0=

It follows that if o, (L) = 0, the majority’s bill-introduction strategy is optimal only if
o (table) = 0. Given pp(table) = 0, 0,,(L) = 0 is sequentially rational if and only if ¢pr > .
Thus a MS-Filibuster-MS equilibrium exists if and only if the conditions stated in Lemma
A2 are satisfied.

All that remains to consider now are MS-Filibuster equilibria in which o, (H) = 1 and
ow(L) > 0. If the majority plays this response strategy, the majority’s bill-introduction
strategy is optimal if and only if ¢); > «. Its response strategy is optimal if and only
if epr < all — pp(table)]. The two conditions are simultaneously satisfied if and only if
ey = a and pp(table) = 0. Such an equilibrium therefore exists only if a MS-Filibuster-MS
equilibrium exists. Because o,(H) = 1 in every such equilibrium, the MS-Filibuster-MS
dominates all others under the efficiency condition in Definition 5. [

Proof of Lemma A3:

I first prove the result for yas = L or ¢y < 5. I restrict attention to equilibria in which
(i) op(H) > op(L) and (ii) par(bill) = 1/2 if 0p(H) = 0p(L) = 0. Thus up(bill) > 1/2 in
every equilibrium. Lemmas Al and A2 therefore imply that o, (H) = 0,(L) = 0 in every
equilibrium if vy, = L or ¢jy < §. Remark 1 establishes that if o,,(H) = 0, (L) = 0, 0 = 0.
Thus if 7y = L or ¢py < 5, the opposition’s strategy is independent of the majority’s bill-
introduction strategy. Formally, p does not depend on o,. It follows that in every equilibrium,

both types of the majority receive the same net expected payoft from introducing a bill,

p + Ta (Yar) [par (bill) — puar (no bill)]

In a NB-Table equilibrium, gy (bill) = 1/2 and pp(no bill) = 1/2. Thus a NB-Table
equilibrium exists for yas = L or ¢py < § if and only if p < 0. In a NB-Table equilibrium,
both types receive an own-reputation payoff of /2. In any equilibrium for p < 0 in

which o,(H) = o,(L) > 0, both types receive an own-reputation payoff of «/2. Their

11



equilibrium payoff in this equilibrium is therefore weakly lower than their payoff in the
NB-Table equilibrium. The NB-Table equilibrium dominates these alternatives under the
efficiency condition from in Definition 5. In any equilibrium for p < 0 in which o,(H) > o3,(L),
equilibrium requires

p + 7a (Yar) [par (bill) — par (no bill)] = 0

Because both beliefs are determined by Bayes’ rule if o,(H) > o0,(L), the equality cannot be
satisfied if vy, = H. If vy = L, the low majority’s equilibrium own-reputation payoff is less
than «/2. Both types therefore receive a strictly lower equilibrium payoff compared to the
NB-Table equilibrium. Thus if p < 0, only a NB-Table equilibrium satisfies Definition 5.

If p > 0, a Bill-Table equilibrium exists in which p(bill) = ppr(no bill) = 1/2. In a Bill-
Table equilibrium, the majority’s own-reputation payoff if it introduces a bill is «/2. Because
p > 0 and both g (bill) = puar(no bill) = 1/2 in every equilibrium in which o,(H) = o4(L),
the Bill-Table equilibrium dominates all others in which o,(H) = o;(L) under the efficiency

condition from Definition 5. An equilibrium in which o,(H) > o0,(L) requires

o+ T (Yar) [ (bill) — pas(no bill)] = 0

Because both beliefs are determined by Bayes’ rule if o,(H) > 0,(L), the equality cannot
be satisfied if vy, = H. If vy, = L, the high type receives an own-reputation payoff that is
less than /2. Both types therefore receive a strictly lower equilibrium payoff compared to
the Bill-Table equilibrium. Thus if p > 0, only a Bill-Table equilibrium exists and satisfies
Definition 5.

I now establish the result for 7oy = H and cj; > a. 1 first show that the high majority’s
equilibrium bill-introduction strategy is o,(H) = 1. Lemmas Al and A2 imply that o,(H) = 1
and 0,(L) = 0 in every equilibrium and that u(fight) = 1 and up(table) = 0 in every
equilibrium. The high majority’s net expected payoff from introducing a bill for o;(H) > 0
is therefore

p+a- l(z _ Jf(H; — Uf(L)> par (bill) + (af(H) ;— Of(L)) — par(no bill)]

Notice that for o,(H) > o0,(L), the high majority’s net payoff is minimized if pp/(bill) =
e (no bill). Given these beliefs; the high majority weakly prefers to not introduce a bill if

pta- <Uf<H)‘2"‘7f(L)> “0

and only if

The inequality is satisfied only if p < 0. Remark 2 implies that p < 0 only if 7o = H and

of(L) < oy(H) = 1. The inequality can therefore be satisfied only if p < —§. However,

12



Remark 2 shows that p > — /2. By assumption, & > . Thus o,(H) = 1 in every equilibrium
if viy = H and ¢y > a.
Because o,(H) = 1, 0,(L) = 0, and ups(table) = 0 in every equilibrium, the low majority’s

net expected payoff from introducing a bill is

o) )

Remark 2 establishes that p = 0 if 04(H) = 04(L) = 1. Thus if 0y(H) = o4(L) = 1,
any bill-introduction strategy such that o,(H) = 1 and o,(L) € [0,1] is consistent with

equilibrium.

If o¢(L) <0, 0p(L) < 1is an equilibrium strategy for the low majority only if

o [ ) L)

Remark 2 shows that if yo = L, p > 0 if o4(L) < 1. Thus if 7o = L, the low majority’s

equilibrium bill introduction strategy is o,(L) = 1 if 0¢(L) < 1. If vo = H and o¢(L) < 1,
the inequality can be satisfied only if p < 0. From Remark 2, this requires o;(H) > o¢(L).
Lemma 3 implies that if 7o = H, then o;(H) = 1 in any equilibrium in which o¢(H) > os(L).

The low majority’s strategy must therefore satisfy

From Remark 2, p > —(3/2. The equality therefore cannot be satisfied for o > .

Thus if ¢py > a and vy = H, o,(H) = 1 in every equilibrium and o,(H) = 1 in
every equilibrium in which o;(L) < 1. All that remains is to show that of(L) = 0 if
o¢(L) =0s(H) =1. lf 04(L) = 04(H) = 1, then any o,(L) € [0, 1] is optimal for the low
majority. Lemmas 3 and 4 establish that oy(H) = 0y(L) = 1 is the opposition’s equilibrium
strategy given ¢ if and only if

542 if yo=H
o < q 2 if o
co(q,0) if yo=1L

Note that ¢ — d + § and ¢o(q, d) are strictly decreasing in ¢ for all g. For jups(bill) = m,
ow(H) =1, 0,(L) =0, and vy = H, ¢ is increasing in o,(L) such that 6 = 0 if 0,(L) = 0 and
§ = —p/4if op(L) = 1. Thus a Filibuster-MS equilibrium in which the low majority mixes on
bill introduction exists only if a MS-Filibuster-MS equilibrium exists. It is straightforward to

check that both types of the majority are indifferent between all Filibuster-MS equilibrium.

13



Thus the MS-Filibuster-MS equilibrium dominates every other Filibuster-MS equilibrium

under the efficiency condition in Definition 5. [J

3 Proofs of Results in Main Text

I provide proofs of results from the main text in this section. I first prove Lemmas 1-4. 1
then state and prove general versions of Propositions 1-4 which directly imply Propositions
1-8 and Corollary 1.

3.1 Lemmas 1-4

Lemma 1 The majority plays a pure strategy bill-introduction strategy in equilibrium. In
any equilibrium in which the majority’s bill-introduction strategy is op(H) = 1, op(L) = 0, its

response strateqy is o,(H) =1, 0,(L) = 0.

Proof of Lemma 1:

Immediately implied by Lemmas A1-A3. [

Lemma 2 If ¢y < §, the majority’s equilibrium response strategy is 0,(H) = 0, (L) = 0.

If epr > «, its equilibrium response strategy is o,(H) =1 and o, (L) = 0.

Proof of Lemma 2:

Lemmas A1l and A2 directly imply that if v, = H, the majority’s equilibrium response
strategy is o, (L) = 0 and
0 if ey <9,

ow(H) =

1 if ey >a O

Lemma 3 For o = H, if ¢ <0 and co < § the opposition’s equilibrium strategy is AV. If

8]

q >0 orco > 5, its equilibrium strategy is

Filibuster if co <q—06+§,
OSS(L) ifcoe(q—0+%,q—d+a),
0S ifco>q—0+a.

Proof of Lemma 3

14



The opposition’s net expected opponent-reputation payoff, §, is defined in the main text

as a function of jupr(bill), o, and vas. It is straightforward to check that 6 € [—2, 2]. Given

0 and vo = H, it is sequentially rational for the opposition to filibuster if and only if
q — 0 + aluo(filibuster) — po(allow vote)] — co - 1(0p = L) > 0 (2)

Notice that because only the low opposition suffers co > 0 from filibustering, o(H) > o4(L)
in every equilibrium and at least one type must play a pure strategy. I first consider strategies
in which o¢(H) + o¢(L) € (0,2). If the opposition plays such a strategy in equilibrium, then

oy (H) o and po(allow vote) = 1o, (H) 7 Substituting these

by Bayes’ rule uo(fight) = o7 (H) 4o (D) 20/ (H)—o,(L)

beliefs into 2 shows that
e 0s(H)=1and os(L) = 0 is sequentially rational if and only if cpo > ¢ —§ + «,

e 0;(H)=1and os(L) € (0,1) is sequentially rational if and only if co € (¢ = +§,q —
d+a)and of(L) = —>— — L.

co—(q—9)

It follows that the only possible non-pooling strategies in equilibrium for vo H are OS and
OSS(L). In a Filibuster equilibrium, po(filibuster) = 1/2 by Bayes’ rule. Substituting this
belief into Inequality 2 shows that the strategy is sequentially rational if and only if

q — 0 — Co 1

l te) < ——— + —.
po(allow vote) < - —|—2

Notice that the inequality is satisfied only if co < ¢ — 0+ /2. Thus o4(H) = o4(L) =1
in equilibrium only if ¢ — 0 < /2. Thus Filibuster, OSS(L), and OS equilibria partition

the set of co: Filibuster if co < g —0+ 5, OSS(L) if co € (¢ =0 + 5,9 — 3 + ), and OS if

co > q— 0 + a. The only other possible equilibrium is AV. Because § < g and § < «a, an

equilibrium always exists in which po(filibuster) = . Thus under the belief condition

1
I4os(L)
in Definition 1 in an AV equilibrium the OC’s off-path belief is

3 if co<q—06+%
po(filibuster) = § ©=U=0 i f e (g—6+ 29—+ a)
0 if co>q—0+a

Substituting this belief and uo(allow vote) = 1/2 into (2) shows that an AV equilibrium
satisfies Definition 1 if and only if co < § and ¢ — ¢ < 0.

If g—0<0and co <qg—9d+ %, an AV and Filibuster equilibrium exist. In this case
Definition 1 requires that the OC’s off-path belief in a filibuster equilibrium is po (allow vote) =

1/2. Substituting ¢ — d < 0 and pp(allow vote) = po(filibuster) = 0 into (2) establishes that
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a Filibuster equilibrium survives Definition 1 if and only if ¢ —d > 0. Thus if ¢ — 6 < 0 and
co < q— 0+ 5, the equilibrium is AV. If co < ¢— 0+ 5 and ¢ — 0 > 0, the equilibrium is
Filibuster.

Ifco € (g—0+%,5]and g—6 < 0, an AV and OSS(L) equilibrium exist. The opposition’s

difference in expected payoff under each strategy for each type is given by

Fy(0SS(L)) - Fy(AV) =g b+ o[ @ 0=0) 0 @
FL(OSS(L)> - FL(AV) =q— 6—|— OJ[CO_(OEI_(S)] — % —Co = —%

Thus for all co € (¢ -9+ 5,5, if ¢ =9 < 0 the AV equilibrium dominates the OSS(L)

equilibrium under the efficiency condition from Definition 4. [

Lemma 4 For o = L, if co < ¢o(q,9), the opposition’s equilibrium strategy is Filibuster.
If co > ¢o(q,0), its equilibrium strategy is

AV if  q< 549,
OSS(H) if qe(5+0,a+0),
0S if qg>a+9.

Proof of Lemma 4
Given ¢ and vo = L, it is sequentially rational for the opposition to filibuster if and only
if
q — 0 — afuo(filibuster) — po(allow vote)] — co - 1(0p = L) > 0 (3)
Notice that because only the low opposition suffers co > 0 from filibustering, o;(H) > o4(L)
in every equilibrium and at least one type must play a pure strategy. I first consider strategies
in which o¢(H) + o;(L) € (0,2). If the opposition plays such a strategy in equilibrium, then

oy (H) D and Mo(allow UOt@) = Lo (H) Ak Substltutlng these

by Bayes’ rule o (fight) = - o (H)—o/(L)

beliefs into 2 shows that
o 0;(H) =1, 07(L) = 0 is sequentially rational if and only if ¢ — 0 — v € [0, co],

e 0s(H) =1, 04(L) € (0,1) is sequentially rational if and only if cp € (¢—6 —a,¢g—0—75)
and (L) = —*— —1,

q—d—co

e 0s(H) € (0,1), o4(L) = 0 is sequentially rational if and only if ¢ — 0 € (5,a) and
of(H) =2 -

_a
q—0
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Notice that if ¢ — 6 < §, no strategy in which oy(H) > o4(L) is consistent with equilibrium.
Thus if ¢ — § < §, the equilibrium is either AV or Filibuster. Substituting po(filibuster) = 1
and po(allow vote) = 1/2 into (3) shows that an AV strategy is consistent with equilibrium
if and only if ¢ — 6 < /2. Thus if ¢ — 0 < a//2, the Definition 1 requires the OC’s off-path
belief in a Filibuster equilibrium to be po(allow vote) = 1/2. Substituting these beliefs for
q— 0 < a/2 into (3) implies that if ¢ — § < /2, a Filibuster equilibrium satisfies Definition
1 if and only if cp < g — . It follows that if ¢ — § < /2 and cp > ¢ — 9, the equilibrium is
AV. For cp < qg— 6§ and cp < g — 9, because a Filibuster equilibrium is possible, Definition 1
requires the OC’s off-path belief in an AV equilibrium to be uo(filibuster) = 1/2. Because
co < q— 0 implies ¢ — ¢, an AV equilibrium does not satisfy Definition 1. Thus if ¢ —d < 3,
the equilibrium is Filibuster if co < ¢ — 6§ and AV if cop > g — 4.
For ¢ — 6 € (§, ), three types of equilibrium are possible:

1. OSS(H) for all all ¢p,

2. OSS(L) if and only if co < ¢ — 0 — ¢
1 _ g=d-co
2 a
Under the belief condition in Definition 1, if ¢ —0 € (§,a) and co > ¢ —d — 5 the
OC’s off-path belief in a Filibuster equilibrium matches its Bayesian belief in an OSS(H)

3. Filibuster if and only if puo(allow vote) >

equilibrium, po(allow vote) = 1— %. The Filibuster equilibrium therefore satisfies Definition
Lforg—d € (5,a)and co > q—36— % if and only if co < §. Note that ¢ —0 — § < §. Thus
for g —d € (§,a) and co € [¢ — 0 — §, 5], an OSS(H) and Filibuster equilibrium exist. The
opposition’s difference in expected payoff under each strategy for each type is given by

Q

Fy(Filibuster) — Fy(OSS(H)) = 5

(q ; 5)] _ % — o
Thus for all ¢co < §, the Filibuster strategy dominates the OSS(H) strategy under the
efficiency condition in Definition 4.

For ¢ — 6 € (§,a) and cp < ¢— 36 — 5, a OSS(L) equilibrium is also possible. If the OC

adopts its Bayesian belief in the OSS(L) equilibrium, po(allow vote) = 0 as its off-path belief

Fp(Filibuster) — F (OSS(H)) =q¢—4d + % —co—qf

in the Filibuster equilibrium, neither type prefers to deviate from the Filibuster equilibrium.
Thus for ¢ — 6 € (5, @), the Filibuster equilibrium satisfies Definition 1 for all co < §. The
opposition’s difference in expected payoff between the Filibuster strategy and OSS(L) strategy
for each type is given by

Q@ _q—5—co))

Fy(Filibuster) — Fy(0SS(L)) = 3 — a(1 - —q—0-— % ¥ co
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Fr(Filibuster) — F,(OSS(L)) =q— 6 + % —co—a=q—0— % —co
where po(filibuster) = HT_CO in an OSS(L) equilibrium. Thus for all cp < ¢ — ¢ — §, the
Filibuster strategy dominates the OSS(L) strategy under the efficiency condition in Definition
4. Therefore if ¢ — 6 € (5, @), the equilibrium is Filibuster if co < § and OSS(H) if co > §.
Finally, if ¢ — 0 > «, three types of equilibrium are possible:

1. OSifand only if co > ¢ — 6 —

2. OSS(L) if and only if co € (¢ =6 —a, g — 6 — %),

__g—=d—co

3. Filibuster if and only if po(allow vote) > % ~

Note that in both a OS and OSS(L) equilibrium, po(allow vote) = 0. Thus under
Definition 1, po(allow vote) = 0 off path in a Filibuster equilibrium if co > ¢—0 —a. A
Filibuster equilibrium therefore satisfies Definition 1 if and only if co < ¢ — ¢ — 5. For
co > q— 0 — 5, the equilibrium is OS. For cp < ¢ —  — a the equilibrium is Filibuster. For
co €[q—0—a,q—6—%], an OS and Filibuster equilibrium exist. The opposition’s difference

in expected payoff between the Filibuster strategy and OS strategy for each type is given by

Fy(Filibuster) — Fg(OS) = %

Fr(Filibuster) — Fr,(OS) =q—d + % —co—a=q—0— % —co
Thus for all for cpo € [g — 9 — a,q¢ — 6 — §], the Filibuster equilibrium dominates the OS
equilibrium under the efficiency criterion in Definition 4. For co € (¢ =0 —a,q—0 — §), an
OSS(L) and Filibuster equilibrium exist. I establish above that the Filibuster equilibrium
dominates the OS equilibrium under the efficiency criterion from Definition 4 if co < ¢—0d—5.
Thus if ¢ — ¢ > a, the equilibrium is Filibuster if co < ¢—0— 5 and OSifco > q¢—06—5. [

3.2 Propositions, Corollary 1, and Remark 3

Propositions A1-A4 directly imply Propositions 1-4. They generalize Propositions 1-4 for
yu € {H, L}. Corollary 1, Remark 3, and Propositions 5-8 follow directly from Propositions
1-4.

Proposition A1 Suppose yo = L and either cyy < § or vy = L. If co < ¢o(q,0) the

equilibrium is NB-Filibuster-Table. If co > ¢o(q,0), the equilibrium is Bill-AV-Table if ¢ < §,
Bill-OSS(H)-Table if q € (5, ), and Bill-OS-Table if ¢ > .
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Proof of Proposition Al:

Lemmas Al and A2 establish that if cpy < § or y = L, in every equilibrium o, (H) =
ow(L) = 0. Thus § = 0 in every equilibrium. Therefore if 7o = L and either cy; < § or
vv = L, the opposition’s unique strategy is characterized by Lemma 4 for § = 0. From
Lemma A3, the equilibrium is a Bill-Table equilibrium if p > 0 and a NB-Table equilibrium
if p < 0. Remark 2 implies that p < 0 if and only if oy(H) = 0;(L) = 1. From Lemma 4, the
opposition plays this strategy in equilibrium if and only if co < éo(q,0). The equilibrium is
therefore NB-Filibuster-Table if co < ¢o(q,0). If co > ¢o(q,0), the equilibrium is Bill-Table.

The opposition’s strategy in the Bill-Table equilibrium is characterized in Lemma 4. []

Proposition A2 Suppose 7o = H and either cpy < 5§ or vy = L. If co < q+ 5 the
equilibrium is NB-Filibuster-Table. If co € (¢4 §,q+ ), the equilibrium is NB-OSS(L)-Table
if ¢ < co[%a + 1]71 and Bill-OSS(L)-Table otherwise. If co > q + «, the equilibrium is

NB-0S-Table if ¢ < 2 and Bill-OS-Table otherwise.

2

Proof of Proposition A2:

Lemmas Al and A2 establish that if cpy < § or yy = L, in every equilibrium o, (H) =
ow(L) = 0. Thus 0 = 0 in every equilibrium. Therefore if 7o = H and either c)y < § or
vv = L, the opposition’s unique strategy is characterized by Lemma 3 for § = 0. From
Lemma A3, the equilibrium is a Bill-Table equilibrium if p > 0 and a NB-Table equilibrium
if p < 0. By Remark 2, p=01if 64(H) = 04(L) = 1. Lemma 3 shows that for 7o = H and
d=0,0¢(H) =0s(L) =1if and only if co < ¢+«/2. Under these conditions, the equilibrium
is NB-Filibuster-Table. For co € (¢ + §,q + ), the opposition’s strategy is OSS(L). I show
in the main text that for ¢co € (¢+ §,¢+ @), p < 0 if and only if ¢ < co[%o‘ + 1]~ For
co > q + a, the opposition’s strategy is OS. I show in the main text that for co > ¢ + «a,

pSOifandonlyifqgg. O

Proposition A3 Suppose vo = L, cpr > o, and vy = H. A MS-Filibuster-MS equilibrium
exists if and only if co < ¢o(q,0). A Bill-MS equilibrium exists if and only if co > ¢o(q, g)
The Bill-MS equilibrium is Bill-AV-MS if ¢ < ¢ + 2, Bill-OSS(H)-MS if ¢ € (S + 2, + ),
and Bill-OS-MS if ¢ > a + &.

Proof of Lemma A3:

Lemma A2 characterizes the necessary and sufficient conditions for a MS-Filibuster-MS
equilibrium. Lemmas A1-A3 imply that every other equilibrium is a Bill-MS equilibrium
if cpy > v and vy = H. From Remark 1, 6 = §/4 in every Bill-MS equilibrium. Lemma 4
characterizes the opposition’s unique equilibrium strategy for vo = L and 6 = /4. Note

that because ¢p(q, d) is strictly increasing in §, a Bill-Filibuster-MS equilibrium exists only if

19



a MS-Filibuster-MS equilibrium exists. A MS-Filibuster-MS equilibrium therefore dominates
a Bill-Filibuster-MS equilibrium under the efficiency condition in Definition 5. Thus if
co < ¢o(q,9), the equilibrium is MS-Filibuster-MS. If co > ¢o(q, 3/4), a Bill-MS equilibrium

exists in which o¢(L) < 1. Lemma 4 characterizes the opposition’s specific strategy. [

Proposition A4 Suppose vo = H, ¢y > «, and vy = H. A MS-Filibuster-MS equilibrium

exists if and only if co < q+ 5. A Bill-MS equilibrium exists if and only if co < § and q¢ < g.
A Bill-OSS(L)-MS equilibrium exists if and only if co € (max {§,q — % +5ha— § +a). A

Bill-OS-MS equilibrium exists if and only if co > q — g + a.

Proof of Lemma A4:

Lemma A2 characterizes the necessary and sufficient conditions for a MS-Filibuster-MS
equilibrium. Lemmas A1-A3 imply that every other equilibrium is a Bill-MS equilibrium
if cpy > a and vy = H. From Remark 1, 6 = /4 in every Bill-MS equilibrium. Lemma 3
characterizes the opposition’s unique equilibrium strategy for 70 = H and 6 = /4. Note
that because ¢ — 4 is strictly increasing in ¢, a Bill-Filibuster-MS equilibrium exists only if a
MS-Filibuster-MS equilibrium exists. A MS-Filibuster-MS equilibrium therefore dominates a
Bill-Filibuster-MS equilibrium under the efficiency condition in Definition 5. Thus if ¢ > 8/4
and co < ¢—/4+a/2 the equilibrium is MS-Filibuster-MS. If ¢ < 5/4 or co > q—/4+ /2,
a Bill-MS equilibrium exists in which o(L) < 1. Lemma 3 characterizes the opposition’s

specific strategy. [

4 Equilibrium for vy, = H and ¢y € (5, o)

Lemma A2 establishes that if ¢)y < «, no equilibrium exists in which o,(H) = 1 and o,,(L) = 0.
The proof of Lemma A2 establishes that if v, = H, the high majority strictly prefers to
introduce a bill if uy(bill) = 1. Thus no equilibrium in which o,(H) > 0 and o,(L) = 0

exists if vy; = H and ¢y € (5, ). The only candidates for equilibrium are therefore

L ooy(H) =1, 03(L) > 0, o(H) = 1, 0u(L) = -5 (& = 1)

Op (L) cMm

2. oy(H) = 0y(L) = 0, 0,(H) = 1, 0, (L) = (2 — 1)

cM

where equilibrium response strategies follow from Lemma Al.

Given these strategies, the high majority prefers to not introduce a bill only if vo = H
and of(H) > oy(L). To see this, first note that the proof of Lemma A3 shows that
op(H) = op(L) = 1 in any equilibrium in which oy(H) = o;(L) = 0. Now note that
op(H) > 0,(L) implies that puy(no bill) < 1/2; pp(bill) > 1/2, and pp(fight) > 1/2. Thus
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if o;(H) < 1, the high majority’s expected own-reputation payoff from introducing a bill is
strictly greater than its expected payoff from not introducing a bill. All that can deter the
high majority from introducing a bill is loss it expects to suffer from opposition signaling.
This requires yo = L. Thus if vo = L or 04(H) = 0¢(L), then o,(H) =1 and o,(L) > 0.

I now use this result to characterize the model’s equilibrium for vo = L.

Lemma A4 Ifyo =L, yi = H, and ¢y € (5, ), a MSS-Filibuster-Fight equilibrium exists
if co < é(q;0) where op(L) = =1 Ifco > é(q; S(CM)), a Bill-MSS equilibrium exists where
ow(L) =2 —1 and

is the value of 0 for oy(L) = 2-—1. The Bill-MSS equilibrium is Bill-AV-MSS if ¢ < %—i—g(cM),
Bill-OSS(L)-MSS if ¢ € (£ 4 d(car), o + d(car)), and Bill-OS-MSS if ¢ > a + d(car).

Proof of Lemma A4:

I show above that 0,(H) = 1 and 0,(L) > 0 in every equilibrium if yo = L. Lemma Al
implies that o,,(L) = ﬁ (% - 1) in equilibrium. By Bayes’ rule p(bill) = m >1/2
and gy (allow vote) = 0 in every equilibrium. The low majority’s net expected payoff from

introducing a bill in every equilibrium is therefore

p+a (2_Uf(H2) _Uf(L>> (1 +ib(L)> — apr(no bill)

From Remark 2, if vo = L, p=0if 0y(H) = 0y(L) = 0 and p > 0 otherwise. It follows that
in any equilibrium in which o;(H) < 1, 0,(L) = 1. If 0¢(H) = 04(L) = 1, the low majority
weakly prefers to introduce a bill if and only if u(no bill). Because o,(H) = 1 in every
equilibrium, this belief satisfies the belief condition in Definition 3. Given this belief, any
oy(L) € [ — 1, 1] is sequentially rational for the low majority.

Having established that o,(L) € (0,1) is consistent with equilibrium only if o;(H) =
o¢(L) = 1, I now characterize conditions under which such an equilibrium exists. Given
the majority’s strategy and vy = H, ¢ is strictly decreasing in o,(L) on [%4 —1,1]. At
op(L) =M —1,0=0. At 03(L) = 1, 0 = 0. Note that 4 — 1 is strictly and continuously
decreasing from 1 to 0 in ¢y € (§, @) on ey € (@/2,a). The set of possible ¢ induced by

op(L) for a given ¢y € (5, a) is therefore [0, d(car)] where

is the value of ¢ for 0,(L) = - — 1. From Lemma 4, o;(H) = 0¢(L) = 1 is the opposition’s

CMm

strategy if and only if co < éo(q,d). Because ¢o(q,0) is strictly decreasing in ¢ for all g,
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a Filibuster equilibrium in which o,(L) > o — L exists only if a Filibuster equilibrium in
which 03(L) = ;% — 1 exists. Note that if 0,(L) = ;% — 1, then 0,,(L) = 1. I refer to such
an equilibrium as a MSS-Filibuster-Fight equilibrium. Under the efficiency condition in
Definition 5, a MSS-Filibuster-Fight equilibrium exists and dominates every other possible
Filibuster equilibrium whenever a Filibuster equilibrium exists.

Because 0,(L) = 1 in any equilibrium in which o;(L) > 0 for 7o = L, in any equilibrium
in which o4(L) <1, 0y(L) = 2 — 1l and § = 6(car). 1 refer to such an equilibrium as a
Bill-MSS equilibrium. From Lemma 4, if 7o = L, 0¢(L) < 1 is the opposition’s strategy if
and only if ¢o > (¢, 8). Substituting d(cy) into &(g,d) and applying Lemma 4 yields the
characterization of the model’s Bill-MSS equilibrium as a function of ¢ in Lemma A4. [J

For vo = H,if 64(H) > 0¢(L), a NB equilibrium possible. This requires the high majority
to weakly prefer not to introduce a bill given gy (no bill) = pp(bill) = 1/2 and pp(fight) = 1.
From Lemma 3, if 7o = H the high opposition’s strategy is either o¢(H) =1 or o¢(L) = 0.
The high majority’s strategy in a NB equilibrium is therefore sequentially rational if and only

if

= (HU;(L)) * 1+:w(1:) (H(;f(L)) =0

Given pupr(bill) = 1/2 and 0y, (L) = - — 1, the condition can be expressed

c

() o awr ) (5 (- 5) <0 o

where p = (PUTJC(L)) {q — 2(1++i€(L))} from Remark 2. For o;(L) = 0, the condition is

(6%
q—§+@M‘z>5°

Recall that this
a/2 and 7. For

Notice that if ¢)y = «/2, the condition is satisfied if and only if ¢ <

IN wrw

condition is necessary for a NB-OS-Table equilibrium to exist for ¢y,

cu € (a2, ), the condition is satisfied if and only if

CMSQ;LB—Q

Note that O‘Qﬂ—q > a/2 if and only if ¢ < §/2. Because 0,,(L) = oo—1if op(H) = 0u(L) =0,
§ = 6(car). From Lemma 3, of(H)=1and o¢(L) = 0 is the opposition’s equilibrium strategy
for 7o = H given 6 = §(cy;) if and only if
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Thus a NB-OS-MSS equilibrium exists if and only if ¢ < /2, c)y < O“Tw —q, and cp >
a5 5] +a?

The only alternative NB equilibrium is NB-OSS(L)-MSS. The high majority weakly
prefers to not introduce a bill in a NB-OSS(L)-MSS equilibrium if and only if Inequality (4)
is satisfied for oy(L) = ——%—— — 1. Substituting (L) = ——2—— — 1 into (4) yields

co—(g—(car)) co—(q—o(car))
the condition

v(co,em) = |1 — P 5(cM))]] [q - 7

- (2[(:0 — (qa_ S(CM))]> (CM — g) <0

The left-hand side of the inequality can be represented by the function v(co,cp). It

is straightforward although somewhat tedious to check that v(co,cyps) has the following

properties:

e v(co,cp) > 0if cpp > O‘T*B—q.

571, v(co, car) is continuous and strictly decreasing in co on the interval
co € [q—d(car) + §,q— 0(cnr) + al.

A

e Forall ¢y €[5, %], v(g+5,cm) > 0and v(g —o(car) + 5, car) < 0.

A

e Forall ¢p € [q— 5(0‘7*5 —q)+5,q— 5(%) + al, v(co, cpr) is increasing in cyy.

It follows that if cps € (£, %E2), a unique ¢ (car) € (¢+ 2, q¢— S(O‘T’Lﬁ) —q) + ) exists such
that v(co,cn) > 01if co < ¢§(en), v(co,enr) < 0 if ¢ (enr), and v(ch(ear), enr) = 0. It also
follows that ¢ (cps) is increasing in ¢j;. Note from Lemma 3 that the opposition plays the
OSS(L) strategy given 0 if and only if co € (¢ — 6 + §,¢ — 0 + ). Thus a Bill-OSS(L)-MSS
equilibrium exists for cys € (§,) and vy = 70 = H if and only if ¢ < g, ey < C’%B —q
and co € (¢5(car), g — 0(ear) + ). Note that if ¢y &~ «/2, §(cpr) ~ 0. From Lemma 3 and
the high majority’s incentive compatibility condition above, for ¢y, ~ 0 a NB-OSS(L)-MSS
equilibrium exists if and only if co € (¢ + §,¢ + a) and ¢ < co[%a +1]7Y, i.e., the same
conditions under which a NB-OSS(L)-Table equilibrium exists for ¢y < «/2 and 70 = H.
If a NB equilibrium does not exist, then the high majority strictly prefers to introduce

a bill in any Bill-MSS equilibrium. To see this, first note that the best possible reputation

2Notice that for cp; = 5, the condition is co > ¢+ « which is a necessary condition for an OS equilibrium
if vo = H and ¢pr < a/2. For ¢pr = «, the condition is co > ¢ — /4 + « which is a necessary condition for
an OS equilibrium if yo = vy = H and ¢j; > a.
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payoff the majority can receive from no bill is /2 which it obtains in a NB-MSS equilibrium.
Now note that because p(bill) = par(no bill) = 1/2 and o,,(H) = 2 — 1 in every Bill-MSS
equilibrium, § = d(cpy) in every Bill-MSS equilibrium. The opposition’s strategy is therefore
identical in a Bill-MSS equilibrium and NB-MSS equilibrium. Because a > [, the low
majority weakly prefers to introduce a bill in a Bill-MSS form gy (no bill) = 0 if the high
majority strictly prefers to introduce a bill for py/(bill) = 1/2. Thus if a NB equilibrium does
not exist, a Bill-MSS equilibrium exists in which the opposition’s strategy is characterized by

Lemma 3 for § = 0(cy;). Lemma A5 summarizes.

Lemma A5 Foryo = H, vy = H, and cyy € (5, ), if ¢ < %, the equilibrium is NB-OS-
MSS if ey > g—f’g and co > q — 0(car) + o and NB-OSS(L)-MSS if ¢y € (2,°2 — ¢) and

20 2
co € [e5(car), ¢ — (car) + ). Otherwise, a Bill-MSS equilibrium exists in which oy is given

by Lemma 3 for 6 = 6(car).
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